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Alfie places three cubes on a coordinate grid.
EH! The base of his shape is a rectangle.
L/ S

Complete this sentence:

The four vertices of the rectangle are 2013A KS2 Q13

N\

2011A KS2 Q23 . L .
b A and B are joined by a straight line on coordinate axes.
A

—

B

(22, 30)
The dots on the line are equally spaced.

What are the coordinates of C?
C

(10, 10) X (

Cis



https://www.youtube.com/watch?v=GoaHZoMdNAo&list=PLS3PH82bo0VBN5y6ePJy8_v0zw611HJsJ&index=13
https://www.youtube.com/watch?v=hCZLpfq6ZTU&index=3&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U
https://www.tes.co.uk/teaching-resource/Y6-KS2-SATs-mental-maths-question-generator-program-interactive-and-self-marking-11013595

The sides of the rectangle are parallel to the axes.

Vi

ABCD is a rectangle drawn on coordinate axes.
2009A KS2 Q23 Y

A E B
~10,8) ¥ ! !
0 X
@ ®
D C
(14, -4)
What are the coordinates of D and E? \ Dis | ( , )

2007A KS2 Q19 Here is a shaded square on x and y axes.

Ay For each of these points, put a tick (v) to show if it is
inside the square or outside the square.
inside outside
60| the square the square
\ (50, 70)
(60, =30)
4 .
-20 0 80
(=10, 50)
—40| (30, -30)



https://www.youtube.com/watch?v=Z0ytab_8TFo&index=7&list=PLS3PH82bo0VBJMWhA_KgnmlCz7eYt4Ic0
https://www.youtube.com/watch?v=U2QMb6PgtAM&list=PLS3PH82bo0VBgaF4RCu1nFganpFTSFBqV&index=2

y ! Here is a kite.
B (5, 6)
A C (10, 4)
(3, 4)
D
-
0 X

Write the coordinates of point D. \ ( , )

20034 KS2 Q23 Here is a pentagon drawn on a coordinate grid.

The pentagon is symmetrical.
A |

Y .
B : (7.10) What are the coordinates of point C?

N, )



https://www.youtube.com/watch?v=2cmR8nstees&index=6&list=PLS3PH82bo0VAiit-Ar3E596STjTK9BqKw
https://www.youtube.com/watch?v=NQ_HdtImgcU&list=PLS3PH82bo0VDJAGKLywxQt-ny_SLKVqNu&index=4

The shaded shape is a parallelogram.
A

b,

Yy
(20, 27) A
(15, 17) (35, 17)
=

0 X

Write in the coordinates of point A. \
‘
y Yﬁ
A (10, 60)

A is the point (10, 60)
B is the point (20, 20)

MM M is the midpoint of line AB.
Write the coordinates of M. \ ( ’ )
B (20, 20)
C is on the x-axis, directly below B.
. > Write the coordinates of C. ( ' )
0 C X



https://www.youtube.com/watch?v=y7cPmuH8XLs&list=PLS3PH82bo0VACc6WGPYZNEN468cuoU-Mp&index=8
https://www.youtube.com/watch?v=43bk2-j1YXQ&index=6&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl

2000A KS2 Q22

20008 k52 @2z
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in the mirr

(5,9)

or line.
|
|
|
I
|

mirror line

The shaded triangle is a reflection of the white triangle

A @

(1,3) (5,3) | (11,3) B
I
I
I
0 X
Write the co-ordinates of point A and point B.
\ A is ( r ) B is ( I )
—
Here is a shaded square. ]
Q8. The shaded shape is a square.
A B (8. 11} .L“
A B
D (3, 6) C
(7,3) (17, 3)
0 -
0 X
o
0 X
Write the coordinates for
point A. What are the coordinates of A and B?
R
S A=( . ) A (i e ) = )



https://www.youtube.com/watch?v=4jbAEgSJ4Fo&index=2&list=PLS3PH82bo0VD4taaQGkL0Gl-3N2AnmO2r

Video Coming Soonl The diagram shows two identical squares

Y. A is the point (10, 10)

C VWhat are the coordinates of
? B and C?

““Bi , )

B ¢ o A (10, 10)

S i : )

(0, 0)

T — The shaded shape is an isosceles

triangle. Write in the missing co-ordinate.

b 4

(B, )

(22.,18)

(6.38)

0 w



